00v¥l = "d'd

= dASW [ ]
dowam [

Twgy0
WG,

0011 /001 8|PYS
0G'8/2 Mid

o) o |o=o|U
o N | N2 N
— m|lom|o m
m O |« O|c O
© Z| =Z|m =
~ m|Z m|A m
21 =22 wlo
o m § ) =
- A |Mo|s
218 2|z
Slocm
T
Z
—70,00 | 150,60
—8,60 150,43
—5,85 148,60
-5,55 | 148,83 148,60
] e
- 148,72
148,68(148,91
—2,75
148,341148,7
150 | 149,58]
0,00 |149,32|148,40|148,85
1,90 148,92
148,34 (148,79
2,75
148,817148,91
3,75 14&75_148ﬁ5
3,93 148,67
6,90 |148,30)

00‘¢yl = "d'd

= dASW [ ]
dowam [

woL0
W8

011 /001 9|PYS
06°G9Z "MId

@] |0V AOD| TV A
w) N[0 N[O N
— MO Mo Mm
m O |« O|c<c O
(2] zZ | Z|M =
~ m|Z m|Xxm
21 == wlo
O m g ) =
— Mol
218 8|z
Sloc|m
T
=z
—12,30 150,91
—8,81 150,47
—5,85 148,50
—5,95 148,73 14:,:2
_21(7)5 148,75] 1:8,8
475 148,62 148,
275 148,58 (148,81
’ 148,241148,6
-1,80 |149,60]
0,00 |149,27]148,30|148,75
180 148,93
148,24(148,69
2,75 |
148,717148,81
3,75 148,65[148,75
4,18 148,3
7,80  |147,40)




